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Reasoning for RRB NTPC 
 

Direction (1-5) : Select the related word/number from the given alternatives 

 

Q1. ABCD : MNOP :: CFIL : ? 

(a) ORUX  

(b) CRUX 

(c) ORUY 

(d) DRXU 

 

Q2. Satyameva Jayate:Mundaka Upanishad::Gayatri Mantra:: 

(a) Rig Veda 

(b) Yajur Veda 

(c) Sama Veda 

(d) Atharva veda 

 

Q3. CLOSE : DNRWJ : : OPEN : ?  

(a) PRHR 

(b) PRJQ 

(c) RPJB 

(d) RZWR 

 

Q4. 17 : ? : : 145 : 195 

(a) 42 

(b) 35 

(c) 30 

(d) 24  

 

Q5. 76: 42:: 46 : ? 

(a) 52  

(b) 24 

(c) 36  

(d) 64 
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Directions (6-9) Find out the odd word/letters/number/number pair from the given alternatives. 

 

Q6. 
(a) Tree : Stem  

(b) Face : Eye  

(c) Chair : Cycle 

(d) Plant : Flower 
 

Q7. 

(a) 133 -98  

(b) 150-115 
(c) 182-140 

(d) 188-153 

 

Q8. 

(a) Arpinder singh-Triple Jump 
(b) Sharath Kamal-table tennis  

(c) Bajrang Punia-wrestler 

(d) Neeraj Chopra- wrestler  

 
Q9. 

(a) Brass  

(b) Silver  

(c) Bronze 
(d) Steel 

 

Directions (10-11) : Select the missing number/letters from the given options. 

 

Q10. 2, A, 9, B, 6, C, 13, D, ?  
(a) 9  

(b) 10 

(c) 12 

(d) 19 
 

Q11. 6, 17, 39, 72, ? 

(a) 83 

(b) 94 

(c) 116 
(d) 127 

 

Q12 .The heights of A and B are equal. C is shorter than A; D is 

shorter than E, but taller than B. Who is the tallest of all ? 
(a) D  

(b) C 

(c) E  

(d) B 
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Q13. Select the word which can be formed from the word IMMEDIATELY  

(a) DIALECT 

(b) LIMITED 

(c) DIAMETER 

(d) DICTATE 

 

Q14. Find out the odd word/letters/number/number pair from the given alternatives. 

(a) EQZFI 

(b) GWIQU 

(c) MGVFK 

(d) PJXHM 

 

Q15. Which letter in the alphabet is as far from G as T is from M? 

(a) M 

(b) N 

(c) O 

(d) P  

 

Q16. Select a suitable figure from the four alternatives that would complete the figure matrix. 

 
(a) A 

(b) B 

(c) C 

(d) D 

 

Q17. Select the missing number from the given responses. 

 
(a) 5 

(b) 9 

(c) 10 

(d) 21 

 

Q18. If "K" means "subtracted from", "L" means "divided by", "M" means "added to" and "D" means 

"multiplied by", then 96 L 4 K 6 M 11 D 9= ? 

(a) 117  

(b) 125 

(c) 120  

(d) 145 

 

? 13 49 

9 17 69 

13 11 59 
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Q19. Introducing a girl, Ankit says, "She is the sister of the son of my mother's sister". How is the 

girl related to Ankit? 

(a) Niece  

(b) Daughter 

(c) Sister  

(d) Cousin 

 

Q20. Vineet travels 16 km towards west, turns right and travels another 12 km, and then takes 

two successive left turns covering 8 km and 12 km in each turn respectively. Finally, he takes a 

right turn and travels 10km further. How far is he now from his original position ? 

(a) 46 km  

(b) 34 km 

(c) 40 km  

(d) 38 km 

 

Q21. If "*" denotes "added to", "&" denotes "divided by", "@" denotes "multiplied by" and "%" 

denotes "subtracted from", then 399 & 19 @ 21 % 41 * 100 = ? 

(a) 458  

(b) 500 

(c) 575  

(d) 600 

 

Q22. It was Sunday on jan 2, 2006, what was the day of the week Jan 1, 2010 ? 

(a) Sunday 

(b) Thursday 

(c) Friday 

(d) Saturday 

 

Q23. Arrange the given words in the sequence in which they occur in the dictionary. 

i. Examination 

ii. Explicit 

iii. Expenditure 

iv. Experience 

(a) i, iv, iii, ii  

(b) i, ii, iii, iv 

(c) i, iv, ii, iii 

(d) i, iii, iv, ii 
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Q24. If a mirror is placed on the line MN, then which of the answer figures is the right image of the 

given figure?  

 
(a)  

 
(b)  

 
(c)  

 
(d)  

 
 

Q25. A piece of paper is folded and punched as shown below in the question figures. From the 

given answer figures, indicate how it will appear when opened.  

 
(a)  

 
(b)  

 
(c)  

 
(d)  
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